SPARTAN

MOWERS

HING GRASS STAESS PAD

INSTRUCTIONS

For 2020 and Newer Models

For more instructions visit SpartanMowers.com or contact your local dealer.



HG STRESS PADS - HIT PARTS

# Q

Figure 1

» Stress Pad x2

« Soft Grip Knob x4

« Upper Bracket x2

« Lower Bracket Left x1

« Lower Bracket Right x1
» Spur Washers x4

- 5/16" Bronze Washer x4
« Plastic Washer x6

» Allen Head Screws x4

- 5/16" Bolt x2

- 5/16" Carriage Bolt x6

« 5/16" Nylon Lock Nut x4

PAGE 1 | King Grass Stress Pads



STRESS PAD ASSEMBLY
STEP 1

Install each stress pad to each upper bracket using the 2, Allen head screws and spur washers for each side.

STEP 2

Install the 5/16" bolt though the upper brackets. Install the bronze 5/16" washer onto the bolt and then install the
lower bracket followed by the 5/16” nylon lock nut. Tighten using 2, %" wrenches securely and then back off until
the brackets move freely.

STEP 3

Install the 5/16” bronze washer between the upper and lower bracket and then install the 5/16” carriage bolt
through the square hole, bronze washer and out of the slotted hole, followed with the plastic washer and then
the soft grip knob. Tighten securely by hand.

King Grass Stress Pads | PAGE 2



INSTALLING THE STRESS PADS
SIEP &

Install the 5/16" carriage bolt through the lower hole on the inside of the grab bar, followed by installing the black
plastic washer, lower stress pad bracket and 5/16" nylon lock nut. Tighten using 2, ¥%2" wrenches, then back off
until bracket slides up and down freely.

STEP 5

Install the 5/16" carriage bolt through the upper hole on the inside of the grab bar. Install the black plastic
washer onto the 5/16" carriage bolt and then install the soft grip knob and tighten securely by hand.

SIEP B

Repeat these steps on the remaining side left to be done.

PAGE 3 | King Grass Stress Pads



SPARTAN

MOWERS

1525 White Drive Batesville, AR SM9I14011



